HD ALUMINUM TAIL LIGHT
GUARDS

(2007-2018 WRANGLER JK)

INSTALLATION INSTRUCTIONS

CONTENTS TOOLS REQUIRED

(2) Tail Light Guards Phillips Screwdriver
(4) #8 x 50mm Phillips Screws

(4) #10 x 50mm Phillips Screws

(8) Plastic Spacers

SKU # J171699



STEP1

Remove (4) screws from the tail light assembly using a Phillips head screwdriver.

STEP 2

Loosen the (2) Phillips screws on the rear of the tail light guard. Align the tail light guard to the
vehicle, and adjust the cross bar to the desired height. Once adjusted, tighten the (2) screws to
lock the crossbar into place.



STEP 3

Secure the tail light guard to the vehicle tail light using (4) plastic spacers, (2) #8 x 50mm screws,
and (2) #10 x 50mm screws. Ensure the spacers are in between the tail light assembly and the tail
light guard.

STEP 4

Repeat steps 1-3 to the opposite side of the vehicle.

Installation is now complete.



	J171699 - Barricade - HD Aluminum Tail Light Guards (07-18 JK)-01
	J171699 - Barricade - HD Aluminum Tail Light Guards (07-18 JK)-02
	J171699 - Barricade - HD Aluminum Tail Light Guards (07-18 JK)-03

